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MATHEMATICS
PAPERI
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TIME: 2 % HOURS

INSTRUCTIONS TO CANDIDATES

a) Write your name an

b)
¢)
d)

e)
V/J

questions.

Marks may be given for correct worki
Non-programmable silent electronic ca

d index number in the space provided above.
This paper consists of two sessions: Section I and section IL
Answer all the questions in th

All answer and working must be done on th

ng even if the answer is Wrong.
Iculators and KNEC Maths tables may be used.

e section I and only five questions from section I
e question paper in the space provided below each

SECTION I
11213145167 9 |10 |11 |12 [13 |14 |15 |16 | Total
SECTION II
177181192021 1222324 Grand
Total
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1. Evaluate (3 marks)
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2. Convert 0.213 to a fraction. (3 marks)
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3. Solve for y in the equation

8(2y 1) x32 = 16(Y+1)

3(23-)§ s Yly
2 X 2 =2

3(29) ¥ :C‘(”H)
vl):)‘_; +g-3:1-&:)+u

4. Use logathrims to evaluate
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5. Two similar solid

smaller solid if the bigger one has avo

f)g.}—,akzsogfi o

245
¥ 9
L-}-}: 2.5

v sy~ 8i%F

6. A triangular flower garden has an area
between the two edges. (2 marks)

1S

1Y

7.

s gave surface areas 48cm” and 108cm’ re

O is the centre of the circle and ABCD is a parallelogr
angle ADC. 2 marks)

lume of 162cm?. (3 marks)
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spectively. Find the volume of the

e = 129V

ZF
. Coz
xR aem

of 28cm’”. Two of its edges are, 14m and 8m. Find the an
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am. AB=DB and arigle AOB = 100°. Find




0 so that he can make profit of 20% on the cost

8. A retailer marks a radiogram for sale at ksh360
price. When he sells it, he allows a discount of 5% of the marked price. Calculate the actual
percentage profit. (4 marks) / _ W
2hon< 129 359”7‘% Hre 1o
o] =100 ‘ o 2P
Zhyd 7’ 5P 342
i ‘ /
FER) - | L /
y 1 o- 2 Gz /___L
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9. Find the integral values that satisfy the inequality below.
x+212_15-—2x_>_x+12 (3 marks) |
y2) =18 -2¢
3 +21Z 1S
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10. Two anight lines are perpendicular to cach other at point M. One of the lines passes through (2,6)
and the equation of the other line is 2y + 3x—5=0. Calculate the co-ordir!ates of point M.
-b~ LLyc-z f’z PR
T3 R
$-b2g* "% T e
y b
A = c - + bt e
2= Ho ~E IR [ e -2
b [
g = ot + 14 x =" 8
3 3 : & E
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11. The angle of elevation of the top of a building from a point P is

from P towards the base of the building
building. (4 marks) \

H- X Tam H¥.
o UY =
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the angle of elevation is

45°. From a point Q, which is 10M
48°. Calculate the height of the !

o-llabx:h')?

x= 90.42
HI QO'U 27‘&““?4(
H-,\qo-uznfl




_ , the motorcycle traveled 25km further than the truck. If the average
speed of the motorcycle was

ﬁ Okm/h, find the average speed of the Ufuck. (3 marks)
| 2 =2 25k, |

Sv. _
I zsxbo:7Sl¢M s 'Ml\'

D S
’_\-_:_. ‘v ZYLQ )

b~ Sokm.

» Where team of students competes by answering questions that
earn either 3 points or 5 points. On

tonglo’s team scored 44 points after answering 12 questions
correctly. How many 5 points questions did the team earn? (3 marks)

2204 §3= L4 36+ 20= "

xrd =\ 2 =2y
| — x= g
32+$S3— L\ Ve U
T3ock3y = 3) —
23= &
by Pt
14. The sum of the interior angles of an n sided polygon is 720°

- Find the value of 1) and hence deduce
the name of the polygon. (3 marks '

@_ﬁ_l_ﬁ)ﬁo :710
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15. Oruka uses !/; of his farm for planting coffee, ¥ for plantin
farming. He still had 6 hectares of unused land. Find the si

Yy btz - 7

4 R 2.

g tea and ¥ of the remainder for mixed
ze of Oruka’s land. (4 marks)
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16. Simplify without using tables

log 125 —log 25
log 25 +1log 5

hog 1257 Leg25xLogs

Loy AS
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SECTIONI 2(095 +1logy
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17. Sonko traveled to London with ksh 360,000. He exchanged the Kenya shilling for sterling pounds
on arrival when the exchange rate was £1 sterling pound = ksh 104.

(a) Determine to the nearest po

commission. (4 marks)
\F =\ou
2= 3bv, o~
30, 00
(oY

¥ 3 ublsy

W

3ubl-STUx 9757
60

%:"3,37 S oo
S
S—

ind how much he received if the bank

r:harged him 2 %2 %

(b) In London, he spent £2025 and then traveled to Washington D.C \Lhere he exchanged the

balance of his money for US dollars. The rate of exchange was £1
dollar. How much did he receive in US dollar assuming no con

Gmgk% 76 re Lbos.

—2'0 2§ 1350 = 7

(}, 12,50 1350 #1.6 :2}.()0
— = 21bou,

(c) He spent % of the money and then traveled b

sterling pound = 1.6 US
nmission was charged?

ack to Nairobi. He exchanged the remaining

dollars into Kenya shilling at the rate 1U.S dollar = Ksh 73.25. How much did he receive in
Kenya shilling assuming that no commission was charged. (3 marks)

21b

uJSH 0
Voad = 7328
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18. OAB is a triangle where P is the mid-point of line AB, Q is a point on line OB such that
OQ:QB = 3:2 and R is a point of intersection of lines AQ and OP.

a) given that OA=a ang Gg =b express OP and AQ in terms of a and b. (2 mzitrks)

.
3

0P =JAYAP ARZRoYo @
fhe = b | - ~q+3 b
ap—= Q \—\éop-—o.) fo %
W= 0rkio-Ya. AR~ S/S.L——Q,
WP gy g "

- —>
b) Given that AR =?Ab express the following in terms of g and b.

o]

()  AR(l mark)
- tA®
AA - tk}f!"o‘)
AR = 3Bt B
G) OR (I mark)
bR—0A Y Ha.
Oa'— ot ;’g*"k‘.bq

ok~ ali- ¢} *}fbb

c) Given that OR = SOP express OR in terms of s, a and b, (1 mark)
O l - s ? P . O

- )
obh=5 C/x\’ *{“\)
OR = Yo ¥ 135

d) Using the expressions for b (ii) above find the values of s and t, hence find the ratio
. AR:AQ. (5§ marks) L‘_J ﬁa A o
\/2\95 yyel = O\(l-t)’r%; | = % k. ’
= S S: 3
Y= \-t 3 ‘2{. |
ys =5%E S~ 2-&(‘}%)
—— ,
| — & ' T~ A~ 8- 8§
s— 2 2t C ;q_ :
é,* 2_'\.—) - 3/5, .
S= 2
\‘ T = 3/_\)/% | <L
| = yktrE. t~ s
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19. The vertices of a triangles ABC are A(6, 1) B(6, 3) and C(10, 1). The image of this triangle under a
certain rotation is A1B1C1 and has vertices A1(2, 5) B1(0,5) C1(2, 9).
a) On the grid provided plot triangle ABC and A'B'C'. (2 marks)

b) Find (i) the centre of rotation (3 marks)
(ili)  Angel of rotation. (2 marks)

c) Determine the vertices of triangle A,B,C, the image of triangle A1B:C; under
reflection in the mirror line y= -x (3 marks)
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207he diagram below shows a bucket with top diameter 30cm and bottom 20cm. the height of the
bucket is 28cm. ;

30 - ZeY\

A0 - .
(50\,\ - SbD\' R—DL
\olh = sbo
h= sbw .
y 7_L,(|'§‘~/~\S7<'g_'+
-} < L
19, goo &
—_—

a) Find the capacity of the bucket in |

5 litres to one decimal place. (5 m&ks)
22> x 5%
‘é < __;__x \0xyox 12 9333
2200 % § IO
SgbbTed| =139,
rsq&&;uq

extra for over] ping and Wastage. (5 marks) ‘
%*&:3}% Isj ~(375x5"g’”‘3 2549% 1eax o

A =
= .
W b 022 9eM” — | 75R em

v | 2803900
gs. 33 1 2/7::——3,__‘%QM —
e |

bkens 219510

\ 0
[ b + 2200 _ zZ), S
J////;wv -7 .
| 2234 |
| g1 3 3143
ol 4; ] 2 S HGem™
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(6 marks)

21. (a) Using a ruler and a pair of ;:ompassés
QR=7cmand PQR =120g.

only. Construct a parallelogram PQRS, where PQ=10cm

Bisecj' PQRand SPQ so that the angle bisectors meet at x.

\
4

sh2,800,000. They could pay a deposit of 6
year. John, Fatima and R

-

© Calculate the area of triangle PXQ. (2 marks) TN
%< U2 xtBS

LYy M

=S
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59 Three traders John, Fatima and Rukia decided to buy a minibus. Marked price of the bus was
0% of the money and the rest to be paid in within one

ukia raised the deposit in the ratio 3:2:5 respectively. The balance was to
the proceeds of the bus in the same ratio as deposits. During-the-yearthe

be paid to the dealer from
busrtirc-same-ratio-as-deposits. During the year the bus realized sh 2,080,000.
a) How much deposit did each contribute? (4 marks)
2 g e |
’;L/f 7 0'67(_.(2_':9 R ——>?>< Qb%v,m
: Yo R
ML 0, pow 84D prO

11




. b) How much of the remaining amount did Rukia pay at the end of the
f
2 § (713;07) 0] year? (2 marks) ; :
/ ' '
w 5’)? * 1,2 000V
/ V12000V
SL é‘—-:_—:__—“__. :S/L\ S 17 0, oo

J ¢) After paying the Temaining amount at the end of the year, how much
~ money was John left with, (4 marks)

}/7( :{)DEO)U\‘)})‘ F bzyovvy
3, « N2zowP 'y -336 yporo
P — (? z
o b ov» — &__‘ft_ ))ie) —
= 330, — S\ 288 oo
23. The acceleration of amoving object.is given as g = ¢ - 2t m/s*. The velocity at the starting point is
8m/s
Determine.
a) It’s velocity in terms of t, (2 marks)
T
A= -2t | Yobbt-t+p
- ‘
«= bt- t +C
V\'L\O_n"h =0 - g

b) The distance covered after 3 secpndé. (2 marks)

1 . T - S )~
— t - ?0(\'—' -3k —) £t - S=S5) 9
S ,j (:‘ E}i’ } S=3 X 65«-
T . -
=3k -Lbystyc | k=3 S=b2m
5= 5 3 j+8x3 E—
S=3x9-L
WAk~ t=o S
S—o S=27~-9%2Yy
¢) The distance covered durjng 3" second. (3 marks)
T b — & L+7»~§
375 -9+ 24 *8-% 2b7
| 72=F = :gq‘i g*&':‘y
Sz §2cm | ™= 2 2
e aib 7b - 2523,
Zru-%* Zh3s. 3
d) Maximum velocity of the ol!ject_. (3 marks) f: 1%";;
12
1b. 670
R ===,

Powered By: www.manyamfranchise.com




24. a) Show by shading the unwanted region the area represented by

4y <x +11, x>1,x+y<9,5y>3x-3

b) Calculate, the enclosed area.

; N
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